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PHILOSOPHY — HONOURS
Paper : DSE-A-3
(Philosophy of Language—Indian)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate Sfull marks.

1. Choose the correct option (any ten) : 1x10
(a) The laksana (definition) of a Pada (word), according to Annarhbhatta is
() Vibhaktyantam Padam (1) Suptimantam Padam
(i) Saktam Padam (iv) None of these.

(b) Sakti, according to Nyaya view is
(i) The relation between word and its meaning
(i) A separate category
(iii) A substance
(iv) None of these.

(c) The word ‘go’ primarily denotes Jati (Universal)— Whose view is this?
(i) Nyaya (i) Mimarnsaka
(i) Carvaka (iv) All of them.
(d) In ‘gangayarh ghoshah’ the relation of the $akyartha of the word ‘ganga’ with regard to its
lakhyartha the bank, is
(i) Relation of conjunction (i) Relation of inherence

(iif) Relation of proximity (iv) None of these.

(e) An example of yougikarudha pada (word) is

(i) Udbhid pada (i) Gopada
(iii) Pankaja pada (iv) Pachaka pada.
(f) When the meanings of words in a sentence is not contradicted, it is called
(i) akarnksa (i) sannidhi
(i) yogyata (iv) tatparya.

(g) Which theory is supported by the Naiyayikas?
(i) anvita-avidhanavada (i) Gaunivada

(i) ridhavida (iv) abhihita-anvayavada.
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(h) According to Nyaya, an example of ajahat-laksana is

(1) mancah-krosanti (ii) rattvamasi
chatrinoh gacchanti.

(iii) gangayvam ghosal (iv)

(i) Vyanjana vrtti is accepted by

(i) Maharshi Gautam (i) Annarhbhatta

(i) Alamkarika (iv) All of them.
G) ‘Vvaktilabhastu aksepat'— Whose view is this?

(i) Mimamsaka (i) Nyaya

(ii) Jaina (iv) None of them.

(k) When no part of primary meaning (fakyartha) is retained, it is called

(1) Jahatlaksana (i) Ajahatlaksana
(i) Jahat-ajahatlaksana (iv) None of these.
(I) Which one of these is not a way of ascertaining sak#i?
(i) Grammar (i) Vrddhavyavahara
(i) rarka (iv) Aptavakya.

2. Answer in brief (any five) : 5x5

(a) Explain the nature of $akti.

(b) Explain with examples the difference between yougika pada (word) and riidha Pada (word).
(c) Explain abhihitanvayavada.

(d) Explain Jatisaktivada.

(e) Discuss whether zatparya jiana can be regarded as the cause of sabdobodha (verbal knowledge).
(f) What does the word ‘ghata’ (pot) refer to by its sakti? Discuss following the Nyaya view.

(g) What is called yougikarigha pada (word)? Explain with example.

(h) Explain how $akti is apprehended through Viddhavyavahara (usage).

3. Answer any two questions :
(a) Discuss anvita-avidhanavada with example. 15

(b) What does Annarhbhatta mean by akamksa, yogyata and sannidhi? Why are these regarded as
causes of sabdobodha (Verbal Cognition)? 9+6

(¢c) (i) ‘Tatparya-anupapattih laksanabijam’— Explain.
(i) Explain, with examples, the different kinds of /aksana. 6+9
(d) ‘Itaranvite $aktih’ — Explain this view. 15




